‘ »\\\m
yiy INSTALLATION INSTRUCTIONS
FISHBONE «(@ — ——

OFFROAD
Jeep® JT Gladiator
Mako Rear Bumper

=

Za™

h y
1
o000 T
o s
REQUIRED TOOLS KIT CONTAINS QTy
18mm Socket JT Gladiator Mako Rear Bumper
8mm Allen D-Rings
4mm Allen M12 Hex Nut
M12 Washer

M12 Lock Washer

M12 Counter Sunk Bolt
M6 Button Head Bolts
M6 Washers

M6 Lock Washers

A A PANOOOOOON R


https://www.carid.com/fishbone-offroad/

F I S HBON Eé(\/;ﬂ%.& INSTALLATION INSTRUCTIONS

OFFROAD \/ PART No. FB22149
AW .
7 et Jeep® JT Gladiator
Mako Rear Bumper
1) REMOVE YOUR EXISTING BUMPER 2) PREP YOUR NEW BUMPER FOR INSTALL
Remove your existing rear bumper according to the With the Mako aside, re-install your trailer wiring

manufacturer’s instructions. plug and license plate lights into it.

If your model has sensors, remove them in order,
left to right, one through four.

T

If your model has sensors, pop out our included
sensor plugs from the bumper, and re-install your
sensors in order, and as they were oriented in the
factory b

el

2214900



FISHBON Eé‘}“% INSTALLATION INSTRUCTIONS
OFFROAD \f o PART No. FB22149

7 e Jeep® JT Gladiator

Mako Rear Bumper

Remove the factory clip nuts from the JT's frame.

With the included tapered bolts, washers, lock
washers, and nuts, secure the center of the bumper
to the center frame mount.

4) RECONNECT WIRES
With your bumper in place, reconnect your trailer
wiring, license plate lights wiring, and the sensor

plugs harness.

3) INSTALL YOUR BUMPER

With the included flat washers, lock washers and
hex nuts, secure the bumper to the left and right
frame mounts with an 18mm Socket.

2214900



F l S HBON E§(\/(?\(& INSTALLATION INSTRUCTIONS

OFFROAD PART No. FB22149

KN
77 et Jeep® JT Gladiator
Mako Rear Bumper

5) INSTALL YOUR LICENSE PLATE
With the included bolts, washers, and a 4mm Allen,
secure your license plate to the center of the
bumper.

6) INSTALL YOUR D-RINGS

—

7) ENJOY YOUR NEW FISHBONE OFFROAD BUMPER!

Discover other off-road bumpers on our website.


https://www.carid.com/off-road-bumpers.html



